g P AR E AT
%ﬂ—?‘lﬁ"ﬁr"x z\ 3 °

‘%‘i
J’F’F
B

[E—

\4\'_")(}

&

(

—

O
g
.Lﬁ

;\\

o<
VR
P

b

3
(¥
L
r
\
w
D
\
w
2
&
(3
-

ﬁ
#

pe
A
jj i

3
(T8

F %
by
(T8

Ji
&=
s
a8
j‘?
ol
\‘ﬂ
ml4
(w
\‘ﬂ
ml4
wt

& 3R T AT

b R TrT TR Ty
TR E (km/h)
dB (A)) <50 50<i# *2<70
B I P
#r Y B gm s 86 90
=a - Rl RS R RIS BRI E R £

B BB TR L A E L
AR E -

SR S S ER S 1 fefeg B 2 F

BPre iR fNGFanmz ey
SRR FEM P L ERE g T £ A
SR

CE R R RES 2k FHRER Y EAR

110#& 1% 1 pi7e

&&A& B 223

R A

-

|9

Bk E RS 3
%$26%£¢F@%%ﬂ%%ﬁ§a&ﬁ$z%m$ﬁﬁ

iKWk fgﬁ:],z— 1 5% 178 2 ¥
e 3 A A 3R RS E A

AR FEAFERFEZNEHAE (FH) +T 4
it %
N iEF 4 EFEL | R TR P s
PENTES i Grd o =) Grdue o =)
4 116 | %260F | 4882 fwnk | 1,800 ~~3,600 &~ | 1.5 2 sx L K ¥
%1378 3 BpliE4AT I N A NS A
e E 2w & o e )
#h p IR EFpERY 1=
# ek FE R




# 900 ~ 3+
£%F
2 R P PF R 4
Tk ?'FH?ME
F o M3EE R
T8 B A R
AAdE (B a0 ) 2 R gff (A74F)
P~ BLRYPFEC R E R 4
TEG R
ANES AL [ SAR <4gNE<I04 B |42 E>10 4 F g d R
1,800 =~ 2,700 =~ 3,600 = 3,600 =
AEPERSEEAR 2,700 ~
=
LR g dgiknky 341 % T xv”,#’m%:m;a:l 3P RTPFE B
MR E A HAM S 0L ¥ p P E 6P K2 F‘ £3FHI Hapa s 11 P2
BprETpe o

5t F BB 0 %
BERHw R Akt IR e

L P # g R 4 2,700 &4 o




